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1.

The object-oriented paradigm includes which of the following properties?

|. Encapsulation, Il. Inheritance, lll. Recursion

(a) l only (b) Il only (c) | and Il only (d) Il and Ill only (e) I, II, and llI

Which of the following data structure is used to implement the call-return sequence? (a) queue (b) B-
tree (c) stack (d) binary tree (e) graph

Which is true for the C assignment statement? “i=i+1;” (a) the left i is value (b) the right i is value (c)
both i’s are value (d) both i’s are location.

If the number 1010 is in 4 bit 2’s complement, what is the 1’'s complement equivalent of the number? (a)
1011 (b) 1001 (c) 0101 (d) 0110.

What is the Hexadecimal equivalent of the decimal number 21.5?7 (a) 1F.5 (b) 15.5 (c) 15.8 (d) 15.1.
Using the following function definition A B( C ) {D}, the parameter list is represented by (a) A (b) B (c) C
(d)D

A 32-bit address can access up to (a) 512M (b) 512K (c) 1G (d) 4G (e) 8G bytes of memory.
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26. (15%) A. Write the output sequence of the postorder traversal of T. B. If T is a binary search tree with
the smaller elements in the left subtree, which of the following nodes contains the fourth smallest
element in T? C. Give an algorithm that traverses a binary tree in level order.

Q \
) w Y
X 7

27. (10%) A. Write a recursive algorithm for GCD(A,B) (Greatest Common Devidor) B. Write the non-
recursive algorithm for GCD(A,B).

28. (10%) What are the outputs if the A. parameter-passing method B. passed by reference is used?
procedure mystery

a : integer; b : integer;
procedure enigma (x,Vy)
begin

Y= ¥ b

X = b + xX;

b =x + b;

a = Yi
end enigma;
begin

a = 2; b= "1;

enigma (a,b) ;

write(a); write(b);
end mystery;

29. (5%) A CPU has an arithmetic unit that adds bytes and then sets its V, C, and Z flag bits as follows.
The V-bit is set if arithmetic overflow occurs (in two’s complement arithmetic). The C-bit is set if a carry-
out is generated from the most significant bit during an operation. The Z-bit is set if the result is zero.
What are the values of the V, C, and Z flag bits after the 8-bit bytes 1100 1100 and 1000 1111 are
added?

30. (10%) A. What is the IEEE 754 representation of 32-bit integer binary format of a signed decimal
number, —3007
B. What is the IEEE 754 representation of 32-bit floating-point binary format of a signed decimal
number, —29.757




